alle Spiele Superliga, 1. und 2. Bundesliga

Gesamt Auswarts Heim

Sp| S U N Sp| S| U N S N
Polizei SV Wels 1+3 48 | 19 27 24 17 13 10
1. KC Saalfelden 39 | 20 16 19 11 13
BSV Land OO 38 | 17 20 19 14 13
KSC Schneegattern/Pihringer 35 | 19 15 17 11 14
KSK Kegelkasino Hallein 27 8 18 13 10
SKC Koblach 25 | 12 10 13 8
SK Sparkasse Lambach 1+2 22 12 11 8
KSK Sparkasse Jenbach 20 12 10 8
ASKO Steyr 20 13 10 10
ESV Bludenz 19 6 10
SKC EHG Dornbirn 16 5
ASV Salzburg 16 13
Union St. Roman 14 4
KV Jenbach / KV Schwaz 14 9
KSK Kremstalerhof 12 4

Fortuna Neunkirchen/FWT-Composites
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ESV Westbahn Linz

ESV Leoben 1+2

ATSV Riedau

Innsbruck

SKC Sonnensee Ritzing

KSK Union Orth/Donau

KC Salzburg

SV VHP Kaprun

Kaltenhausen

KSV Wien

BSV Voith St. Pélten

SKC Kleinwarasdorf

KSK Austria Krems

Adam Jagerl Wels

ATV Andorf

Linz AG Sport

KC Kramsach

ATSV Hard

KSK Raika Erlach

ASK Nettingsdorf

SK Handelsministerium

SKV Wittau

BBSV Wien

Herz Armaturen

KSG GFM Steyr

SKC Oberpullendorf

ESV Bregenz Wolfurt

KV Auersthal

1.8V Oberalm

KSV Siemens Wien

PSV Schwechat

SKV Schlaining

SPG SKVI Katzenberger

ESV Woargl
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